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2/3 = -0,66

 17

. '  10% 

,  40%. 

;

. , 

, 



 - 

 –  & 16

 20%; 

;

.  ( ), 

 10% 

; 

;

) (10% / 40%) = 0,25

)  5% (-0,25  20%). 

15%  {(1-0,25)  20%}

)  40% (10 / 0,25). 

 30%

 18

 ( ) 

, 

;

. 

. 

, .

, 

, 

), 

.

 19

 -0,4  -0,5.



 - 

 –  & 17

 ( ) Q ( )

 50 150

 60

100

 = ((q1-150)/150) / 10/50 = -0,4

 = ((q1-150) X 50/(150 X10) = q1-150 / 30 = -0,4 = q1-150 = -12  q1=

150-12 = q1 = 138

1 :

-0,5 = ((138-100) -60-P1) X (P1/100))  -0,5 = 38 1 / (60- 1)100

 38 1 = -50 (60- 1)  38 1 = -3000 + 50 1  12 1 = 3000

1 = 250
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(L) P) (AP) (MP)
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 10.000 
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 5:2=2,5%.

 4 :

n =  x 1,0 n = 10.000 x 1,0116 = 10.000 x 1,172579 = 11.725,79 .

 n=16   4  16 .

 6 :

n =  x 1,0 n = 11.725,79 x 1,02512 = 11.725,79 x 1,344889 = 15.769,88 .

 n=12   6  12 .
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,  12% ( ) 

.  10.000  1/4/2002 

10.800  1/3/2003. 

 31/12/2005.

 3  9

,  45 ,  2  10 , 

34 .

  12% : 12 = 1%.

 31/12/2005:  1 = 1 x 1,0 n = 10.000 x 1,0145 =

10.000 x 1,564811 = 15.648,11 .

 31/12/2005:  2 = 2 x 1,0 n = 10.500 x 1,0134

= 10.800 x 1,402577 = 15.147,83 .

 31/12/2005 .
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1 100.000 9.000 9.000 91.000

2 91.000 9.000 18.000 82.000

3 82.000 9.000 27.000 73.000

4 73.000 9.000 36.000 64.000

5 64.000 9.000 45.000 55.000

6 55.000 9.000 54.000 46.000

7 46.000 9.000 63.000 37.000

8 37.000 9.000 72.000 28.000

9 28.000 9.000 81.000 19.000

10 19.000 9.000 90.000 10.000

90.000
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 %

1 4 3.600 3.600 96.400

2 5 4.500 8.100 91.900

3 6 5.400 13.500 86.500

4 7 6.300 19.800 80.200

5 8 7.200 27.000 73.000

6 10 9.000 36.000 64.000

7 12 10.800 46.800 53.200

8 14 12.600 59.400 40.600

9 16 14.400 73.800 26.200

10 18 16.200 90.000 10.000

100 90.000 .
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1 1/36 1.000 1.000 39.000

2 2/36 2.000 3.000 37.000

3 3/36 3.000 6.000 34.000

4 4/36 4.000 10.000 30.000

5 5/36 5.000 15.000 25.000

6 6/36 6.000 21.000 19.000

7 7/36 7.000 28.000 12.000

8 8/36 8.000 36.000 4.000
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1 18 16.200 16.200 83.800

2 16 14.400 30.600 69.400
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3 14 12.600 43.200 56.800

4 12 10.800 54.000 46.000

5 10 9.000 63.000 37.000

6 8 7.200 70.200 29.800

7 7 6.300 76.500 23.500

8 6 5.400 81.900 18.100

9 5 4.500 86.400 13.600

10 4 3.600 90.000 10.000

100 90.000
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1 8/36 8.000 8.000 32.000

2 7/36 7.000 15.000 25.000

3 6/36 6.000 21.000 19.000
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4 5/36 5.000 26.000 14.000

5 4/36 4.000 30.000 10.000
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 %

1 36,9% 36.900 36.900 63.100

2 36,9% 23.285 61.185 39.815

3 36,9% 14.693 75.878 25.125

4 36,9% 9.272 85.150 15.858

5 36,9% 5.850 90.000 10.000

90.000
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• 9.  = 20% 

• 10.       =0,75  / 

• 11. ,    7,5  / 

• 12. ,  30%  11

• 13.           -

• 14.       =5%

• 15.  =15% (  11 & 12)

. , 

)  = 37505,0.7500
100

5.
2

15000
1002

===
ΡΑ .

)                                                                   -

)                                                                            -

)                                                               -

 = 375 : 1500 = 0,25 / 

. , 

Ν
Ω

<ω , ω=>==
Ν
Ω 15002000

5
10000

 ( )  = 2
1500.5

15000
.

==
Ν
Α
ω

/ 



 - 

 –  & 36

)  = 5,025,0.225,0.
1500.5

15000.
.

===
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 = 2,50  / 

. , 

)     =  .  = 0,25 x 0,75 = 0,1875 / 

)   =  (  . ) = 0,20 x 0,1875 = 0,0375 / 

)  = . IV = 0,15 x 9,75 = 1,4625 / 

=1,69 / 

IV. , IV

) =  = 7,50  / 

) = .  = 0,30 x 7,50 =

2,25  / 

IV = 9,75  / 

IV=0,25 + 2,50 + 1,69 + 9,75 = 14,19  / 
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 39

 4 

1200  1000 800  500   

 100.000 . 

 0,6 

0,8  1,2 1,4 .

-
.

1 2 3 4 5 6

0,6 1.200 720 29,59  0,6 = 17,754 12.782,88

0,8 1.000 800 29,59  0,8 = 23,672 18.937,60

1,2 800 960 29,59  1,2 = 35,508 34.087,68

1,4 500 900 29,59  1,4 = 41,426 37.283,40

3.500 3.380 103.091,56

 (3) 

 (2).  (4).

5,30
380.3

56,091.103
= .

 (5). 

.

 (

 39), 
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 ( . 

40).

 40

 3  500,

300   200   300, 400  500  /

. 

 150, 200  250 .

 300.000 

.

 300.000 .

 500  300 + 300  400 + 200 

500 = 150.000 + 120.000 + 100.000 = 370.000 .

 500  150 + 300 

200 + 200  250 = 75.000 + 60.000 + 50.000 = 185.000 . 

: 300.000  185.000 = 115.000 .

.

-
/ 

)

1 2 3 4 5 6 7

500 300 150 93,24 243,24 121.620

300 400 200 124,32 324,32 97.297

200 500 250 155,41 405,41 81.083

300.000

 (115.000 ) 
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. :

ü : 24,93
000.370

300000.115 =

ü : 32,124
000.370

400000.115 =

ü : 41,155
000.370

500000.115 =

 41

.  

:

1.  ( )

 450 

2.  ( , , , )

 150 

3.  ( )

 100 

4.  ( , )

80 

5.  5 

6.  12 

7.  ( , , , )

 20%  200 % 

 150% 

.

 25  ( ,

) 

 30% .
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 20% 

,

.

1 450

2 150

3 100

4 80

5
5  25  = 125

6
12  25  = 300

7
20%  450  =

200 %  125 

100%    300 

90

250

300

8  30%  300  = 90

1935

 20% 387

 2.322 
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 ( )

1. 1.500.000

2. 130.000

3. 25.000

4. 50.000

5. 44.000

6. 1.500

7. 7.500

8. 10.800

9. 4.000

10. 300

11. 18.000

12. , 90.000

13.  ( ) 9.000

14.  3.000

15. 1.200

16.  ( ) 20.000

17. 400

18. 400

19. 35.000

3.000.000  (2.000.000  1.000.000 

), 

 5 ,  150.000  /

.  170.000 .

 2,5% :: 

.

.



 - 

 –  & 42

 4 (

).

. 

)

1. 1.500.000

2. 130.000

3. 25.000

4. 50.000  (

 & )

5. 44.000

6. 1.500

7. 7.500

8. 10.800

9. 4.000

10. 300

11. 18.000

12. , 90.000

13.  ( ) 9.000  (

 & )

14.  3.000

15. 1.200

16. 

)

20.000

17. 400

18. 400

19. 35.000  (

)
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. 

1.  (50.000 ) 

, . 

:

ü €935.41000.50*
000.25000.130

000.130
=

+

ü €065.8000.50*
000.25000.130

000.25
=

+

2.  (9.000 ) , 

. 

 (2.000.000  1.000.000 )

ü €000.6000.9*
000.000.1000.000.2

000.000.2
=

+

ü €000.3000.9*
000.000.1000.000.2

000.000.1
=

+

3. (35.000 ) 

. 

:

ü :

10.800+4.000+18.000+20.000 = 52.800
ü : 130.000

ü : 1.500.000+1.500 = 1.501.500

ü : 25.000 + 44.000 + 7.500 + 300 +

90.000 + 3.000+ 1.200 + 400 + 400 = 171.800

ü .E. : €996000.35*
800.171500.501.1000.130800.52

800.52
=

+++
,

ü .E. . : €450.2000.35*
800.171500.501.1000.130800.52

000.130
=

+++
,
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ü .E. : €325.28000.35*
800.171500.501.1000.130800.52

500.501.1
=

+++
,

ü .E. : €229.3000.35*
800.171500.501.1000.130800.52

800.171
=

+++
,

. 

1.

€250.41025,0*
2

000.300.3
=   (  34)

2.

5 .  150.000  0,025 = 18.750 

1.500.000 + 130.000 + 25.000 + 50.000 + 44.000 + 1.500 + 7.500 +

10.800 + 4.000 + 300 + 18.000 + 90.000 + 9.000 + 3.000 + 1.200 +

20.000 + 400 + 400 + 35.000 = 1.949.300 

3.

€366.24025,0*
2

300.949.1
=

: 41.250+18.750+24.366=84.366 .

4. 

(84.366 ) 

, 

. 

:
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ü : €400.2366.84*
800.171500.501.1000.130800.52

800.52
=

+++
,

ü . : €909.5366.84*
800.171500.501.1000.130800.52

000.130
=

+++
,

ü : €248.68366.84*
800.171500.501.1000.130800.52

500.501.1
=

+++
,

ü : €809.7366.84*
800.171500.501.1000.130800.52

800.171
=

+++
,

. 

 ( )
.

1. 1.500.00

0

1.500.000

2. 130.000 130.00

0

3. 25.000 25.000

4. 50.000 41.935 8.065

5. 44.000 44.000

6. 1.500 1.500

7. 7.500 7.500

8. 10.800 10.800

9. 4.000 4.000

10. 300 300

11.  - 18.000 18.000
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 & 

12. , 90.000 90.000

13.  (
)

9.000 6.000 3.000

14.  3.000 3.000

15. 1.200 1.200

16. 20.000 20.000

17. 400 400

18. 400 400

19. 35.000 996 2450 28325 3.229

20. 84.366 2.400 5.909 68.248 7.809

2.034.46

6

40.855 180.29

6

1.598.103 215.212

100,0% 2,1% 8,9% 78,5% 10,5%

 78,5%.

2,1%

78,5%

8,9%
10,5%
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6.4 

 43

 85 . 

 ( ) 

35 .  ( )  250.000  ( ,

, ). :

1) ;

2) 

 250.000 ;

3)  15 

) ) 

250.000 

1) Q = FC / (P - V) = 250.000 / (85-35) = 5.000 

2) Q = (FC + ) / (P-V) = (250.000 + 250.000) / (85-35) = 10.000 

) Q = FC / (P - V) = (250.000) / (85 - 50) = 7.143 

) Q = (FC + ) / (P-V) = (250.000 + 250.000) / (85-50) = 14.286 

 ( ) :

B/E  = FC / (1 - V/P) = 250.000 / (1 - 35/85) = 42.445 

 44

 3.000.000 

 150 

 200 . :

1) 

.

2) 
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1) To  = Q = (FC ) / (P-V) = (3.000.000) / (200-150) = 60.000 .

 60.000 .

2)  TR = P.Q = 60.000 X 200 = 12.000.000

 TC = FC + V.Q = 3.000.000 + 150 X 60.000 =

12.000.000

 45

 2.000.000 . 

 30 , 

 50 . :

1)  ( ) ;

2) 

 300.000 

;

3) 

 100.000 

4)  20 

;

1) Q = B/E = FC / (P - V) = 200.000 / (50-30) = 10.000 
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2) Q = B/E = (FC1 + FC2) / (P-V) = (200.000 + 300.000) / (50-30) = 25.000

3) Q = B/E = (FC + ) / (P-V) = (200.000 + 100.000) / (50-35) = 15.000

4) Q = B/E = (FC) / (P-V) = (200.000) / (50-10) = 5.000 
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 5.000.000  150

 / .  30.000 

7.500.000 . :

1) 

;

2) 

400.000 ;

3) 

 30.000 , 

 10% , 

 10% 

;

1) 

.      Q =  FC / (P - V).   . 

 7.500.000 

30.000 . TR = P. Q .  P = TR / Q = 7.500.000 / 30.000 = 250  /

.  Q = 5.000.000 / (250-150) = 50.000 .

2) ,

. TR = FC + VQ +    P. Q = FC + VQ + .

 Q= (FC + ) / (P-V) = (5.000.000 + 400.000) / (250-150) = 54.000

3)  30.000 

:TR1 = 7.500.000 . 

 30.000 

 60.000 .  TR2 = P2 . Q = 225 .
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30.000 = 6.750.000 . R1 + TR2 = 7.500.000 + 6.750.000 = 14.250.000 .

TC = FC + V1Q + V2Q = 5.000.000 + 150 X 30.000 + 165 X 30.000 =

14.450.000 . 

 200.000 . .


